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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;

fLoe g A7

62

<-6M # B /X.Mm 15 @ £ 8 /15.RBT.cpp [FORMAT=unix] [TYPE=CPP] [P0S=54,30][62%] 21/09/19 - 20:21

- (root = NIL) return getNewNodGCRGY),
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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- (root = NIL) return getNewNodGCRGY),
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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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- (root = NIL) return getNewNodGCRGY),
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